MATHS

BOOKS - NCERT EXEMPLAR

UNDERSTANDING QUADRILATERALS
AND PRACTICAL GEOMETRY

Solved Examples

1. The number of diagonals of a polygon of n

sides is-


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_iDGXWMoH9v69

n(n — 1)
2
n(n — 2)
2
n(n — 3)
2

A.

B.

C.

D.n(n — 3)

Answer: C

o Watch Video Solution

2.If LA, /B, /C and ZD of a quadrilateral
ABCD, taken in order, are in the ratio 3:7:6:4

then ABCD is a


https://dl.doubtnut.com/l/_iDGXWMoH9v69
https://dl.doubtnut.com/l/_w9wpaqI3PTED

A. kite

B. parallelogram

C.rhombus

D. trapezium

Answer: D

o Watch Video Solution

3. Prove that; If the diagonals of a
quadrilateral bisect each other at right angles,

then it is a rhombus.


https://dl.doubtnut.com/l/_w9wpaqI3PTED
https://dl.doubtnut.com/l/_L4rPt0FmfCAS

A.rhombus

B. trapezium

C. rectangle

D. kite

Answer: A

o Watch Video Solution

4.The sum of the angles of a quadrilateral is

A. 180°


https://dl.doubtnut.com/l/_L4rPt0FmfCAS
https://dl.doubtnut.com/l/_uOIpNsgJOaJZ

B. 270°

C. 360°

D. 300°

Answer: C

o Watch Video Solution

5. In a square ABCD, the diagonals meet at

point 0. The AAOB:is

A. isosceles right triangle


https://dl.doubtnut.com/l/_uOIpNsgJOaJZ
https://dl.doubtnut.com/l/_0WkQn6fyF5sK

B. equilateral triangle

C. isosceles triangle but not right triangle

D. scalene right triangle.

Answer: A

o Watch Video Solution

6. ABCD is a quadrilateral in which AB =5 cm,
CD = 8 cm and the sum of angle A and angle D

is 180°. What is the name of this quadrilateral?


https://dl.doubtnut.com/l/_0WkQn6fyF5sK
https://dl.doubtnut.com/l/_LAHZcVfyeofl

A. Parallelogram

B. Trapezium

C. Rhombus

D. Can not be determined

Answer: B

o Watch Video Solution

7. Rukmini has a farm land which is triangular
in shape. What is the sum of all the exterior

angles taken in an order of the farm land?


https://dl.doubtnut.com/l/_LAHZcVfyeofl
https://dl.doubtnut.com/l/_UtLxIOPA3zTU

A.90°

B. 180°

C. 360°

D. Can not be determined.

Answer: C

° View Text Solution

8. How many sides does an octagon have?

AT


https://dl.doubtnut.com/l/_UtLxIOPA3zTU
https://dl.doubtnut.com/l/_CS1E3hCiVfHq

B.9

C.8

D. 10

Answer: C

o Watch Video Solution

9. The diagonals of a rhombus bisect each

other at angles.

A. Acute


https://dl.doubtnut.com/l/_CS1E3hCiVfHq
https://dl.doubtnut.com/l/_VKdsoPt39gwP

B. Obtuse

C. Right.

D. Straight

Answer: C

o View Text Solution

10. For getting diagonals through vertex A of a

pentagon ABCDE, A is joined to

o Watch Video Solution



https://dl.doubtnut.com/l/_VKdsoPt39gwP
https://dl.doubtnut.com/l/_MOW96ju5zKUG

11. For constructing a unique quadrilateral at

least measurements are required.

o Watch Video Solution

12. If diagonals of a quadrilateral bisect at

right angles it is a

o View Text Solution



https://dl.doubtnut.com/l/_UnrHpTQwOQQ4
https://dl.doubtnut.com/l/_WAg5QBRJ38yl

13. The diagonals of a intersect at

right angles.

o View Text Solution

14. Every rectangle is a parallelogram. true or

false

o Watch Video Solution

15. Every rhombus is a kite.



https://dl.doubtnut.com/l/_JZIwHjZmk74z
https://dl.doubtnut.com/l/_OUoxOpqand81
https://dl.doubtnut.com/l/_x3dzXiM1OjHo

o Watch Video Solution

16. Every parallelogram is a trapezium.

A. No

B. Yes

Answer: True.

° Watch Video Solution



https://dl.doubtnut.com/l/_x3dzXiM1OjHo
https://dl.doubtnut.com/l/_lYlMBT3f2DI2

17. state whether the statement are true (T) or
false (F).

Every kite is a trapezium.

o Watch Video Solution

18. state whether the statement are true (T) or
false (F).

Every kite is a parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_XfDoHsUomWyt
https://dl.doubtnut.com/l/_Z2bKzdimgKOs
https://dl.doubtnut.com/l/_n7LzqWQtvLx2

19. Diagonals of a rectangle are perpendicular

to each other.

° Watch Video Solution

20. state whether the statement are true (T) or
false (F)
For constructing a unique parallelogram

lengths of only two sides should be given.

o Watch Video Solution



https://dl.doubtnut.com/l/_n7LzqWQtvLx2
https://dl.doubtnut.com/l/_zwig214cixA7
https://dl.doubtnut.com/l/_f3CjvKASBsFH

21. state whether the statement are true (T) or

false (F).

is a

simple closed curve.

A. True

B. False


https://dl.doubtnut.com/l/_f3CjvKASBsFH

C. Cannot say

D. None

Answer: B

° Watch Video Solution

22. state whether the statement are true (T) or

false (F).


https://dl.doubtnut.com/l/_f3CjvKASBsFH
https://dl.doubtnut.com/l/_Hqf0lhJfcd7q

concave polygon.

A. False

B. True

C. Cannot say

D. None

IS


https://dl.doubtnut.com/l/_Hqf0lhJfcd7q

Answer: B

o Watch Video Solution

23. A triangle is not a polygon. (True/False)

o View Text Solution

24. The sides AB and CD of a quadrilateral
ABCD are extended to points P and Q

respectively. s


https://dl.doubtnut.com/l/_Hqf0lhJfcd7q
https://dl.doubtnut.com/l/_oB3072IM2Rik
https://dl.doubtnut.com/l/_VzBqEK8m6Fi4

LADQ + LCBP = LA + ZC? Give reason.

Q D

R —P

o Watch Video Solution

25. If AM and CN are perpendiculars on the
diagonal BD of a parallelogram ABCD, Is

AAMD = ACNDB? Give reason.

| €8 |


https://dl.doubtnut.com/l/_VzBqEK8m6Fi4
https://dl.doubtnut.com/l/_W5ibgvy2Kcu5

| ¥ Watch Video Solution J

26. Construct a quadrilateral ABCD in which AB
= AD = 5cm, BC = CD = 7cm and BD = 6cm. What

type of quadrilateral is this?

o Watch Video Solution

27.Two adjacent angles of a parallelogram are

in the ratio 4:5. Find their measures.

o Watch Video Solution



https://dl.doubtnut.com/l/_W5ibgvy2Kcu5
https://dl.doubtnut.com/l/_k1r00u1SzJHT
https://dl.doubtnut.com/l/_VXLXQ7gEmcIM

28. The four angles of a quadrilateral are in

theratio3:4:5: 6. Find the angles.

° Watch Video Solution

29. In a parallelogram PQRS, the bisectors of /

P and ZQ meet at O. Find ZPOQ.



https://dl.doubtnut.com/l/_gsKyAYGk0emy
https://dl.doubtnut.com/l/_dEVEXovuYcb7

| ' Watch Video Solution |

30. Three angles of a quadrilateral are 50°, 40°

and 123°. Find its fourth angle.

o Watch Video Solution

31. The ratio of exterior angle to interior angle
of a regular polygon is 1:4. Find the number of

sides of the polygon.

o Watch Video Solution



https://dl.doubtnut.com/l/_dEVEXovuYcb7
https://dl.doubtnut.com/l/_7WXb03VlHzar
https://dl.doubtnut.com/l/_CuJCDSvHvi9U

32. Each interior angle of a polygon is 108°.

Find the number of sides of the polygon.

° Watch Video Solution

33. Construct a rhombus PAIR, given that PA=6

cm and angle ZA =110°.

o Watch Video Solution



https://dl.doubtnut.com/l/_UXA95QjWgaxB
https://dl.doubtnut.com/l/_UrHAP9nBeRSq

34. One of the diagonals of a rhombus and its
sides are equal. Find the angles of the

rhombus.

o Watch Video Solution

35. In the figure, HOPE is a rectangle. Its

diagonals meet at G. If HG = 5x + 1 and EG = 4x


https://dl.doubtnut.com/l/_JRWLRXZ2Qdwk
https://dl.doubtnut.com/l/_Mw4KQKBUlnpL

+ 19, find x.

M"\g

E

O

o Watch Video Solution

36.

RICE is a rhombus. Find x, y, z.



https://dl.doubtnut.com/l/_Mw4KQKBUlnpL
https://dl.doubtnut.com/l/_g9TnYdUPsKT2

° Watch Video Solution



https://dl.doubtnut.com/l/_g9TnYdUPsKT2

37. Application on the problem solution
strategy
Construct a rhombus with side 4.5cm and

diagonal 6cm.

° Watch Video Solution

1. If three angles of a quadrilateral are each

equal to 75°, the fourth angle is


https://dl.doubtnut.com/l/_mGi5wpBcSNcI
https://dl.doubtnut.com/l/_q8vDpm5wsRVd

A.150°

B.135°

C.45°

D.75°

Answer: B

o Watch Video Solution

2. For which of the following, diagonals bisect

each other?


https://dl.doubtnut.com/l/_q8vDpm5wsRVd
https://dl.doubtnut.com/l/_hUWSLRGblcOT

A. Square

B. Kite

C. Trapezium

D. Quadrilateral

Answer: A

° Watch Video Solution

3. For which of the following figures, all angles

are equal?


https://dl.doubtnut.com/l/_hUWSLRGblcOT
https://dl.doubtnut.com/l/_hDog3Kn2UMca

A. Rectangle

B. Kite

C. Trapezium

D. Rhombus

Answer: A

o Watch Video Solution

4. For which of the following figures, diagonals

are perpendicular to each other?


https://dl.doubtnut.com/l/_hDog3Kn2UMca
https://dl.doubtnut.com/l/_ICLfmzzJY9ct

A. Parallelogram

B. Kite

C. Trapezium

D. Rectangle

Answer: B

° Watch Video Solution

5. For which of the following , diagonals are

equal?


https://dl.doubtnut.com/l/_ICLfmzzJY9ct
https://dl.doubtnut.com/l/_IsEmNekxGpKq

A. Trapezium

B. Rhombus

C. Parallelogram

D. Rectangle

Answer: D

o Watch Video Solution

6. Which of the following figures satisfy the
following properties?

- All sides are congruent.


https://dl.doubtnut.com/l/_IsEmNekxGpKq
https://dl.doubtnut.com/l/_fO55KUctQ2Mb

- All angles are right angles.

- Opposite sides are parallel.

AP

B.Q

C.R

D.S

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_fO55KUctQ2Mb

7. Which of the following figures satisfy the
following property? - Has two pairs of

congruent adjacent sides.

A P

B.Q

C.R

D.S

Answer:


https://dl.doubtnut.com/l/_5XV8Zk5W79fI

° Watch Video Solution

8. Which of the following figures satisfy the
following property? - Only one pair of sides are

parallel.

A P

B.Q

C.R

D.S


https://dl.doubtnut.com/l/_5XV8Zk5W79fI
https://dl.doubtnut.com/l/_Im6RqYHZKaM7

Answer:

o Watch Video Solution

9. Which of the following figures do not satisfy
any of the following properties?

- All sides are equal.

- All angles are right angles.

- Opposite sides are parallel.

AP


https://dl.doubtnut.com/l/_Im6RqYHZKaM7
https://dl.doubtnut.com/l/_TEnQwdu0B1sn

B.Q

C.R

D.S

Answer:

o Watch Video Solution

10. Which of the following properties describe

a trapezium?

A. A pair of opposite sides is parallel.


https://dl.doubtnut.com/l/_TEnQwdu0B1sn
https://dl.doubtnut.com/l/_TT2ZEJ5pQxam

B. The diagonals bisect each other.

C. The diagonals are perpendicular to each

other.

D. The diagonals are equal.

Answer: A

o Watch Video Solution

11. What is the maximum number of obtuse

angles that a quadrilateral can have ?


https://dl.doubtnut.com/l/_TT2ZEJ5pQxam
https://dl.doubtnut.com/l/_X5x4CjBfmD25

Al

B.2

C.3

D. 4

Answer: C

o Watch Video Solution

12. How many non-overlapping triangles can
we make in a n-gon (polygon having n sides),

by joining the vertices?


https://dl.doubtnut.com/l/_X5x4CjBfmD25
https://dl.doubtnut.com/l/_jIOg1ZOXOJym

Answer:

o Watch Video Solution

13. What is the sum of all angles of a hexagon?

A. 180°



https://dl.doubtnut.com/l/_jIOg1ZOXOJym
https://dl.doubtnut.com/l/_D3lmwISrHOPb

B. 360°

C. 540°

D. 720°

Answer: D

o Watch Video Solution

14. If two adjacent angles of a parallelogram
are (5x - 5)° and (10x + 35)°, then the ratio of

these angles is


https://dl.doubtnut.com/l/_D3lmwISrHOPb
https://dl.doubtnut.com/l/_WM163oxlEvGm

Al:3

B.2:3

C.1:4

D.1:2

Answer: A

o Watch Video Solution

15. A quadrilateral whose all sides are equal,
opposite angles are equal and the diagonals

bisect each other at right angles is a


https://dl.doubtnut.com/l/_WM163oxlEvGm
https://dl.doubtnut.com/l/_jlz4uyAMRnfW

A.rhombus

B. parallelogram

C.square

D. rectangle

Answer: A

o Watch Video Solution

16. A quadrilateral whose opposite sides and

all the angles are equal is a


https://dl.doubtnut.com/l/_jlz4uyAMRnfW
https://dl.doubtnut.com/l/_UAthewIOJcJl

A. rectangle

B. parallelogram

C.square

D. rhombus

Answer:

o Watch Video Solution

17. A quadrilateral whose all sides, diagonals

and angles are equal is a


https://dl.doubtnut.com/l/_UAthewIOJcJl
https://dl.doubtnut.com/l/_z4Yo7ysUe5QN

A.square

B. trapezium

C. rectangle

D. rhombus

Answer: A

° Watch Video Solution

18. How many diagonals does a hexagon have?

A.9


https://dl.doubtnut.com/l/_z4Yo7ysUe5QN
https://dl.doubtnut.com/l/_k0cpyKCgUzvZ

B.8

C. 22

D.6

Answer:

o Watch Video Solution

19.If the adjacent sides of a parallelogram are

equal then parallelogram is a

A.rectangle


https://dl.doubtnut.com/l/_k0cpyKCgUzvZ
https://dl.doubtnut.com/l/_bRcwHu8UxF2J

B. trapezium

C.rhombus

D. square

Answer:

o Watch Video Solution

20. If the diagonals of a quadrilateral are equal

and bisect each other, then the quadrilateral is


https://dl.doubtnut.com/l/_bRcwHu8UxF2J
https://dl.doubtnut.com/l/_BSaOXXRcOi0D

A.rhombus

B. rectangle

C.square

D. parallelogram

Answer:

° Watch Video Solution

21. find the sum of all exterior angles of a

triangle.

| 8 l


https://dl.doubtnut.com/l/_BSaOXXRcOi0D
https://dl.doubtnut.com/l/_EU4meCz8V9Bm

22. Which of the following is an equiangular

and equilateral polygon?

A. Square

B. Rectangle

C. Rhombus

D. Right triangle

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_EU4meCz8V9Bm
https://dl.doubtnut.com/l/_un6VNlCTfhAT

23. Which one has all the properties of a kite

and a parallelogram?

A. Trapezium

B. Rhombus

C. Rectangle

D. Parallelogram

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_un6VNlCTfhAT
https://dl.doubtnut.com/l/_l24wdq1x3umZ

24. The angles of a quadrilateral are in the

ratio1:2:3:4.The smallest angle is

A.72°

B. 144°

C.36°

D. 18°

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_X6fo91rz2hAh
https://dl.doubtnut.com/l/_dLLCcPRgIfqh

25. In the trapezium ABCD, the measure of /D

IS

A.55°

B.115°

C.135°

D. 125"


https://dl.doubtnut.com/l/_dLLCcPRgIfqh

Answer: D

o Watch Video Solution

26. A quadrilateral has three acute angles. If

each measures 80°, then the measure of the

fourth angle is

A. 150°

B. 120°

C.105°

D. 140°


https://dl.doubtnut.com/l/_dLLCcPRgIfqh
https://dl.doubtnut.com/l/_TkmA9OZ4Gd53

Answer:

o Watch Video Solution

27. The number of sides of a regular polygon

where each exterior angle has a measure of

450° |s

A.8

B.10

C.4

D.6


https://dl.doubtnut.com/l/_TkmA9OZ4Gd53
https://dl.doubtnut.com/l/_2QRZ122bZrrG

Answer: A

o Watch Video Solution

28. In a parallelogram PQRS, if /P = 60°, then

other three angles are

A. 45°,135°,120°

B. 60°, 120°, 120°

C. 60°, 1359, 135°

D. 45°,135°,135°



https://dl.doubtnut.com/l/_2QRZ122bZrrG
https://dl.doubtnut.com/l/_KdOmuoliU0cz

Answer: B

o Watch Video Solution

29. If two adjacent angles of a parallelogram

are in the ratio 2:3, then the measure of

angles are

A 72°.108°

B.36°, 54°

C.80°, 120°

D.96°, 144°


https://dl.doubtnut.com/l/_KdOmuoliU0cz
https://dl.doubtnut.com/l/_68NBZ529yI8j

Answer: A

o Watch Video Solution

30. If PQRS is a parallelogram, then Z/P- /R is

equal to

A. 60°

B. 90°

C. 80°

D. 0°


https://dl.doubtnut.com/l/_68NBZ529yI8j
https://dl.doubtnut.com/l/_8jjuGzoCWcTE

Answer: D

o Watch Video Solution

31. The sum of adjacent angles of a

parallelogram is

A. 180°

B.120°

C. 360°

D. 90°


https://dl.doubtnut.com/l/_8jjuGzoCWcTE
https://dl.doubtnut.com/l/_57QtINwz0LxU

Answer:

o Watch Video Solution

32. The angle between the two altitudes of a
parallelogram through the same vertex of an
obtuse angle of the parallelogram is 30°. The
measure of the obtuse angle is

A. 100°

B. 150°

C.105°


https://dl.doubtnut.com/l/_57QtINwz0LxU
https://dl.doubtnut.com/l/_N3U0EvDDvE86

D. 120°

Answer: B

o Watch Video Solution

33. In the given figure, ABCD and BDCE are
parallelograms with common base DC. If BC

1 BD, then ZBEC =



https://dl.doubtnut.com/l/_N3U0EvDDvE86
https://dl.doubtnut.com/l/_GKPjWcm1XsBN

A. 60°

B.30°

C. 150°

D. 120°

Answer:

° Watch Video Solution

34. Length of one of the diagonals of a

rectangle whose sides are 10 cm and 24 cm is


https://dl.doubtnut.com/l/_GKPjWcm1XsBN
https://dl.doubtnut.com/l/_2UHAb1SyDHxk

A. 25 cm

B.20 cm

C.26cm

D.3.5cm

Answer: C

o Watch Video Solution

35. If the adjacent angles of a parallelogram

are equal, then the parallelogram is a


https://dl.doubtnut.com/l/_2UHAb1SyDHxk
https://dl.doubtnut.com/l/_c8hzxkbiB7GP

A. rectangle

B. trapezium

C.rhombus

D. any of the three

Answer:

o Watch Video Solution

36. Which of the following can be four interior

angles of a quadrilateral?


https://dl.doubtnut.com/l/_c8hzxkbiB7GP
https://dl.doubtnut.com/l/_Sjls8XD5sPS9

A.140°, 40°, 20°, 160°

B.270°, 150", 307, 20°

C.40°,70°,90°, 60°

D.110°, 40°, 30°, 180°

Answer: A

o Watch Video Solution

37. The sum of angles of a concave

quadrilateral is


https://dl.doubtnut.com/l/_Sjls8XD5sPS9
https://dl.doubtnut.com/l/_rhHiQSZXJ7JX

A. more than 360°

B. less than 360°

C. equal to 360°

D. twice of 360°

Answer: C

o Watch Video Solution

38. Which of the following can never be the

measure of exterior angle of a regular

polygon?


https://dl.doubtnut.com/l/_rhHiQSZXJ7JX
https://dl.doubtnut.com/l/_qQGu3QMumZz6

A.22°

B.36°

C.45°

D.30°

Answer: A

o Watch Video Solution

39. In the figure, BEST is a rhombus, Then the

value of y - xis


https://dl.doubtnut.com/l/_qQGu3QMumZz6
https://dl.doubtnut.com/l/_btH955QMGMlj

A.40°

B. 50°

C. 20°

D. 10°

Answer:

° Watch Video Solution

40.The closed curve which is also a polygon is

Al#



https://dl.doubtnut.com/l/_btH955QMGMlj
https://dl.doubtnut.com/l/_K903WGro8PmP

B.l#

C.les

D. L.

Answer:

o Watch Video Solution

41. Which of the following is not true for an
exterior angle of a regular polygon with n

sides?


https://dl.doubtnut.com/l/_K903WGro8PmP
https://dl.doubtnut.com/l/_24xU6XbRNoTM

360°
n

A. Each exterior angle =

B. Exterior angle = 180° - interior angle

360°
Cn= -
exterior angle
: (n —2) x 180°
D. Each exterior angle = -

Answer: D

o Watch Video Solution

42.PQRS is a square. PR and SQ intersect at O.

Then ZPOQ is a


https://dl.doubtnut.com/l/_24xU6XbRNoTM
https://dl.doubtnut.com/l/_3GIH18aaMYpj

A. Right angle

B. Straight angle

C. Reflex angle

D. Complete angle

Answer:

o Watch Video Solution

43. Two adjacent angles of a parallelogram are
in the ratio 1:5. find all the angles of the

parallelogram.


https://dl.doubtnut.com/l/_3GIH18aaMYpj
https://dl.doubtnut.com/l/_knmrhomtOEnu

° Watch Video Solution

44, A parallelogram PQRS is constructed with

sides QR =6 cm, PQ =4 cm and ZPQR = 90°.

Then PQRS is a

A. square

B. rectangle

C.rhombus

D. trapezium

Answer:


https://dl.doubtnut.com/l/_knmrhomtOEnu
https://dl.doubtnut.com/l/_npxxYhC8O19f

° Watch Video Solution

45. The angles P, Q, R and S of a quadrilateral

are in the ratio 1:3:7:9. Then PQRS is a

A. parallelogram

B. trapezium with PQ || RS

C. trapezium with QR||PS

D. kite

Answer:



https://dl.doubtnut.com/l/_npxxYhC8O19f
https://dl.doubtnut.com/l/_2VYNJBT6olOo

46. PQRS is a trapezium in which PQ||SR and

/P = 130", ZQ = 110°.Then ZR is equal to:

A.70°

B. 50°

C.65°

D. 55°

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_2VYNJBT6olOo
https://dl.doubtnut.com/l/_U0jagN8sCaGh

47. The number of sides of a regular polygon

whose each interior angle is of 135° is

A.6

B.7

C.8

D.9

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_U0jagN8sCaGh
https://dl.doubtnut.com/l/_jK9i5FJUlu0B

48. If diagonal of a quadrilateral bisects each

other at right angles then it is a

A. kite

B. parallelogram

C.rhombus

D. rectangle

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_NNkPAFQ1R7ik
https://dl.doubtnut.com/l/_GudDmjbc9lAm

49, To construct a unique parallelogram, the

minimum number of measurements required

is

A2

B.3

C.4

D.5

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_GudDmjbc9lAm
https://dl.doubtnut.com/l/_zRFO8E2sO8jz

50. To construct a unique rectangle, the

minimum number of measurements required

IS

A4

B.3

C.2

D. 1

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_zRFO8E2sO8jz

51. fill in the blanks to make the statements
true
In quadrilateral HOPE, the pairs of opposite

sides are

o Watch Video Solution

52. fill in the blank to make the statements
true
In quadrilateral ROPE, the pairs of adjacent

angles are

| & I


https://dl.doubtnut.com/l/_YUaXnz9S3IlM
https://dl.doubtnut.com/l/_ANkwjgUZ8L8C

| ¥ Watch Video Solution |

53. fill in the blank to make the statements
true
In quadrilateral WXYZ, the pairs of opposite

angles are

° Watch Video Solution

54. fill in the blank to make the statement true

The diagonals of the quadrilateral DEFG are


https://dl.doubtnut.com/l/_ANkwjgUZ8L8C
https://dl.doubtnut.com/l/_6JDnceM5EFgO
https://dl.doubtnut.com/l/_OowoUVKL3dP6

° Watch Video Solution

55.fill in the blank to make the statement true

The sum of all of a quadrilateral is

360°.

° Watch Video Solution

56. The measure of each exterior angle of a

regular pentagon is

o Watch Video Solution



https://dl.doubtnut.com/l/_OowoUVKL3dP6
https://dl.doubtnut.com/l/_Emux18JBq13k
https://dl.doubtnut.com/l/_dr2bgzEwBnNf

57. Sum of the interior angles of a hexagon is

° Watch Video Solution

58. The measure of each exterior angle of a

regular polygon of 18 sides is

o Watch Video Solution



https://dl.doubtnut.com/l/_dr2bgzEwBnNf
https://dl.doubtnut.com/l/_ZrnpDq0uja2I
https://dl.doubtnut.com/l/_ynmEupw6GU0a

59. The number of sides of a regular polygon,

where each exterior angle has a measure of

o Watch Video Solution



https://dl.doubtnut.com/l/_YcRIB25vULTk

60. fill in the blank to make the statement true

E

is a
closed curve entirely made up of line

segments. The another name for this shape is


https://dl.doubtnut.com/l/_XnjWJhvmPSiL

B. Circle

C. Line segment

D. None

Answer: A

o Watch Video Solution

61. A quadrilateral that is not a parallelogram
but has exactly two opposite angles of equal

measure is

I o Watch Video Solution


https://dl.doubtnut.com/l/_XnjWJhvmPSiL
https://dl.doubtnut.com/l/_bbl5Zf5hWtFO

62. The measure of each angle of a regular

pentagon is

o Watch Video Solution

63. The name of three-sided regular polygon is

o Watch Video Solution



https://dl.doubtnut.com/l/_bbl5Zf5hWtFO
https://dl.doubtnut.com/l/_jt4elYuSkI0z
https://dl.doubtnut.com/l/_vCp6yHRpn2vs

64. The number of diagonals in a hexagon is

o Watch Video Solution

65. A polygon is a simple closed curve made up

A. Points

B. Ray

C. Line segments


https://dl.doubtnut.com/l/_Y5rCnJO5hu2o
https://dl.doubtnut.com/l/_PUL4MhkKGN9x

D. None

Answer: C

° Watch Video Solution

66. A regular polygon is a polygon whose all

sides are equal and all are equal.

A. Diagonals

B. Points

C. Angles


https://dl.doubtnut.com/l/_PUL4MhkKGN9x
https://dl.doubtnut.com/l/_KhPPyNeG9A0s

D. None

Answer: C

o Watch Video Solution

67. The sum of interior angles of a polygon of

n sides is right angles.

° Watch Video Solution



https://dl.doubtnut.com/l/_KhPPyNeG9A0s
https://dl.doubtnut.com/l/_KhxOQewznQtv

68. The sum of all exterior angles of a polygon

o Watch Video Solution

69. is a regular quadrilateral.

o Watch Video Solution

70. A quadrilateral in which a pair of opposite

sides is parallel is



https://dl.doubtnut.com/l/_UsSM8fyL56Ck
https://dl.doubtnut.com/l/_Fv44X7VuDPh8
https://dl.doubtnut.com/l/_JcoWuR0WbGgS

o Watch Video Solution

71. If all sides of a quadrilateral are equal, it is

o Watch Video Solution

72. In a rhombus diagonals intersect at

o Watch Video Solution



https://dl.doubtnut.com/l/_JcoWuR0WbGgS
https://dl.doubtnut.com/l/_JJU59lLiqqGG
https://dl.doubtnut.com/l/_dl4SPpCAX8b8
https://dl.doubtnut.com/l/_Lv4ZjMUQ72fz

73. measurements can determine a

quadrilateral uniquely.

o Watch Video Solution

74. A quadrilateral can be constructed

uniquely if its three sides and

are given.

o Watch Video Solution



https://dl.doubtnut.com/l/_Lv4ZjMUQ72fz
https://dl.doubtnut.com/l/_gafDfhdXS5C7

75. A rhombus is a parallelogram in which

sides are equal.

o Watch Video Solution

76. The measure of angle of concave

quadrilateral is more than 180°.

o Watch Video Solution



https://dl.doubtnut.com/l/_54wGOaBZ7BDb
https://dl.doubtnut.com/l/_x5JIgvk786sb

77. A diagonal of a quadrilateral is a line

segment that joins two vertices of

the quadrilateral.

o Watch Video Solution

78. The number of sides in a regular polygon

having measure of an exterior angle as 72° is

o Watch Video Solution



https://dl.doubtnut.com/l/_ullzFR2MOqh3
https://dl.doubtnut.com/l/_O0n6S9ltewVZ
https://dl.doubtnut.com/l/_JDkvLS0v56AJ

79. If the diagonals of a quadrilateral bisect

each other, it is a

o Watch Video Solution

80. The adjacent sides of a parallelogram are 5

cm and 9 cm. Its perimeter is

o Watch Video Solution

81. Anonagon has sides.


https://dl.doubtnut.com/l/_JDkvLS0v56AJ
https://dl.doubtnut.com/l/_dwYOY61KZZvU
https://dl.doubtnut.com/l/_bI2nya3zRkuZ

A.5

B.6

C.8

D.9

Answer: D

° Watch Video Solution

82. Diagonals of a rectangle are

° Watch Video Solution



https://dl.doubtnut.com/l/_bI2nya3zRkuZ
https://dl.doubtnut.com/l/_IBoCIdiRM2Wa

8. A polygon having 10 sides is known as

o Watch Video Solution

84. A rectangle whose adjacent sides are equal

becomes a

° Watch Video Solution



https://dl.doubtnut.com/l/_IBoCIdiRM2Wa
https://dl.doubtnut.com/l/_eOwqbSPpj7yS
https://dl.doubtnut.com/l/_xLemU0ozWyK8

85. If one diagonal of a rectangle is 6 cm long,

length of the other diagonal is

o Watch Video Solution

86. Adjacent angles of a parallelogram are

o Watch Video Solution



https://dl.doubtnut.com/l/_A4XawoyN6eMg
https://dl.doubtnut.com/l/_spRliEZPIRo1

87. If only one diagonal of a quadrilateral
bisects the other, then the quadrilateral is

known as

o Watch Video Solution

88. In trapezium ABCD with AB||CD, if

/A = 100°, then £D-=

o Watch Video Solution



https://dl.doubtnut.com/l/_RJehkBeBoq2D
https://dl.doubtnut.com/l/_n7kN1upCtxJS

89. The polygon in which sum of all exterior
angles is equal to the sum of interior angles is

called

o Watch Video Solution

90. State whether the statements are true (T)
or (F) false.

All angles of a trapezium are equal.

o Watch Video Solution



https://dl.doubtnut.com/l/_nPGwoSxK2Cmo
https://dl.doubtnut.com/l/_BfQv1pOQ5Mwk
https://dl.doubtnut.com/l/_LHV4Fhpc6tl9

91. State whether the statements are true (T)
or (F) false.

All squares are rectangles.

o Watch Video Solution

92. State whether the statements are true (T)
or (F) false.

All kites are squares.

o Watch Video Solution



https://dl.doubtnut.com/l/_LHV4Fhpc6tl9
https://dl.doubtnut.com/l/_0BbC4cmOQekF
https://dl.doubtnut.com/l/_cWwBOqpHQq96

93, State whether the statements are true (T)
or (F) false.

All rectangles are parallelograms.

o Watch Video Solution

94. State whether the statements are true (T)
or (F) false.

All rhombuses are squares.

o Watch Video Solution



https://dl.doubtnut.com/l/_cWwBOqpHQq96
https://dl.doubtnut.com/l/_y5sL4aLOnY71

95, State whether the statements are true (T)
or (F) false.

Sum of all the angles of a quadrilateral is 180°.

o Watch Video Solution

96. State whether the statements are true (T)
or (F) false.

A quadrilateral has two diagonals.

o Watch Video Solution



https://dl.doubtnut.com/l/_bLGFxhoegU5p
https://dl.doubtnut.com/l/_xV0SdZQXRSUH
https://dl.doubtnut.com/l/_rlw0DUzLzctH

97. State whether the statements are true (T)
or (F) false.
Triangle is a polygon whose sum of exterior

angles is double the sum of interior angles.

o Watch Video Solution

98. State whether the statements are true (T)

or (F) false.


https://dl.doubtnut.com/l/_rlw0DUzLzctH
https://dl.doubtnut.com/l/_KU9jGL2RwgxH

is a

polygon.

o Watch Video Solution

99, State whether the statements are true (T)

or (F) false.


https://dl.doubtnut.com/l/_KU9jGL2RwgxH
https://dl.doubtnut.com/l/_p38q1LbbVPMD

A kite is not a convex quadrilateral.

o Watch Video Solution

100. State whether the statements are true (T)
or (F) false.

The sum of interior angles and the sum of
exterior angles taken in an order are equal in

case of quadrilaterals only.

o Watch Video Solution



https://dl.doubtnut.com/l/_p38q1LbbVPMD
https://dl.doubtnut.com/l/_tjm3dM6lgzud

101. State whether the statements are true (T)
or (F) false.

If the sum of interior angles is double the sum
of exterior angles taken in an order of a

polygon, then it is a hexagon.

o Watch Video Solution

102. State whether the statements are true (T)
or (F) false.

A polygon is regular if all of its sides are equal.

| & I


https://dl.doubtnut.com/l/_DIkMY10SFbMM
https://dl.doubtnut.com/l/_tVYKGo3I5IHH

| ¥ Watch Video Solution |

103. State whether the statements are true (T)
or (F) false.

Rectangle is a regular quadrilateral.

o Watch Video Solution

104. State whether the statements are true (T)
or (F) false.
If diagonals of a quadrilateral are equal, it

must be a rectangle.


https://dl.doubtnut.com/l/_tVYKGo3I5IHH
https://dl.doubtnut.com/l/_2IIrsMdKw5sc
https://dl.doubtnut.com/l/_uKVdb3bXPxq1

° Watch Video Solution

105. State whether the statements are true (T)
or (F) false.
If opposite angles of a quadrilateral are equal,

it must be a parallelogram.

o Watch Video Solution

106. State whether the statements are true (T)

or (F) false.


https://dl.doubtnut.com/l/_uKVdb3bXPxq1
https://dl.doubtnut.com/l/_AQr0frLwT11H
https://dl.doubtnut.com/l/_qlktkdUJLwJK

The interior angles of a triangle are in the
ratio 1:2:3, then the ratio of its exterior angles

is 3:2:1.

° Watch Video Solution

107. State whether the statements are true (T)

or (F) false.


https://dl.doubtnut.com/l/_qlktkdUJLwJK
https://dl.doubtnut.com/l/_joHWQOT1A7HF

concave pentagon.

is

o Watch Video Solution



https://dl.doubtnut.com/l/_joHWQOT1A7HF

108. State whether the statements are true (T)
or (F) false.
Diagonals of a rhombus are equal and

perpendicular to each other.

° Watch Video Solution

109. State whether the statements are true (T)
or (F) false.

Diagonals of a rectangle are equal.

° Watch Video Solution



https://dl.doubtnut.com/l/_mcKIYjotxxTm
https://dl.doubtnut.com/l/_BKuT5oTuVCeY

110. State whether the statements are true (T)
or (F) false.
Diagonals of rectangle bisect each other at

right angles.

o Watch Video Solution

111. State whether the statements are true (T)
or (F) false.

Every kite is a parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_BKuT5oTuVCeY
https://dl.doubtnut.com/l/_YcdSZSMNaOQP
https://dl.doubtnut.com/l/_MnfHjyDnbwab

112. State whether the statements are true (T)
or (F) false.

Every trapezium is a parallelogram.

o Watch Video Solution

113. State whether the statements are true (T)
or (F) false.

Every parallelogram is a rectangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_MnfHjyDnbwab
https://dl.doubtnut.com/l/_xW8AXgBLoLQz
https://dl.doubtnut.com/l/_61vKaIl1LaTM

114. State whether the statements are true (T)
or (F) false.

Every trapezium is a rectangle.

o Watch Video Solution

115. State whether the statements are true (T)
or (F) false.

Every rectangle is a trapezium.

o Watch Video Solution



https://dl.doubtnut.com/l/_61vKaIl1LaTM
https://dl.doubtnut.com/l/_dsmB3MdBgSDq
https://dl.doubtnut.com/l/_8HJcJa6SqHyu

116. State whether the statements are true (T)
or (F) false.

Every square is a rhombus.

o Watch Video Solution

117. State whether the statements are true (T)
or (F) false.

Every square is a parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_2P2gWR4WeNuI
https://dl.doubtnut.com/l/_HANOaCScmqAH
https://dl.doubtnut.com/l/_hZ7DvYoGDEPD

118. State whether the statements are true (T)
or (F) false.

Every square is a trapezium.

o Watch Video Solution

119. State whether the statements are true (T)
or (F) false.

Every rhombus is a trapezium.

o Watch Video Solution



https://dl.doubtnut.com/l/_hZ7DvYoGDEPD
https://dl.doubtnut.com/l/_SCycWdXFpZtC
https://dl.doubtnut.com/l/_5a3nbgiEVd4A

120. State whether the statements are true (T)
or (F) false.
A quadrilateral can be drawn if only measures

of four sides are given.

° Watch Video Solution

121. State whether the statements are true (T)
or (F) false.
A quadrilateral can have all four angles as

obtuse.

o Watch Video Solution



https://dl.doubtnut.com/l/_5a3nbgiEVd4A
https://dl.doubtnut.com/l/_dds4cK0wJuXf

122. State whether the statements are true (T)

or (F) false.

A quadrilateral can be drawn if all four sides

and one diagonal is known.

o Watch Video Solution

123. State whether the statements are true (T)

or (F) false.

A quadrilateral can be drawn when all the four

angles and one side is given.


https://dl.doubtnut.com/l/_dds4cK0wJuXf
https://dl.doubtnut.com/l/_sPPSKj3cOD3I
https://dl.doubtnut.com/l/_Bs48HmndaWFw

° Watch Video Solution

124. State whether the statements are true (T)
or (F) false.
A quadrilateral can be drawn if all four sides

and one angle is known.

o Watch Video Solution

125. State whether the statements are true (T)

or (F) false.


https://dl.doubtnut.com/l/_Bs48HmndaWFw
https://dl.doubtnut.com/l/_eD0BNRKlvkYy
https://dl.doubtnut.com/l/_yhwd6eVwFKBI

A quadrilateral can be drawn if three sides and

two diagonals are given.

° Watch Video Solution

126. State whether the statements are true (T)
or (F) false.
If diagonals of a quadrilateral bisect each

other, it must be a parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_yhwd6eVwFKBI
https://dl.doubtnut.com/l/_YD4ThU0cfHGb

127. State whether the statements are true (T)
or (F) false.
A quadrilateral can be constructed uniquely if

three angles and any two sides are given..

o Watch Video Solution

128. State whether the statements are true (T)
or (F) false.

A parallelogram can be constructed uniquely if


https://dl.doubtnut.com/l/_Zzqpwbig3mZu
https://dl.doubtnut.com/l/_cH3dcHdJPvhN

both diagonals and the angle between them is

given.

° Watch Video Solution

129. State whether the statements are true (T)

or (F) false.

A rhombus can be constructed uniquely if

both diagonals are given.

o Watch Video Solution



https://dl.doubtnut.com/l/_cH3dcHdJPvhN
https://dl.doubtnut.com/l/_n083CH4oIr0X

130. The diagonals of a rhombus are 8 cm and

15 cm. Find its side.

o Watch Video Solution

131. Two adjacent angles of a parallelogram are

in the ratio 1:3. Find its angles.

o Watch Video Solution



https://dl.doubtnut.com/l/_EBsNs0qqSZXT
https://dl.doubtnut.com/l/_Y99QAJ0ZXoME

132. Of the four quadrilaterals— square,
rectangle, rhombus and trapezium— one is
somewhat different from the others because

of its design. Find it and give justification.

° Watch Video Solution

133. In a rectangle ABCD, AB = 25 cm and BC =
15. In what ratio does the bisector of ZC divide

AB?

° Watch Video Solution



https://dl.doubtnut.com/l/_TcRL2qxE3Uth
https://dl.doubtnut.com/l/_baIXQiVYOuy1

134. PQRS is a rectangle. The perpendicular ST
from S on PR divides ZS in the ratio 2:3. Find £

TPQ.

° Watch Video Solution

135. A window frame has one diagonal longer
than the other. Is the window frame a

rectangle? Why or why not?

° Watch Video Solution



https://dl.doubtnut.com/l/_baIXQiVYOuy1
https://dl.doubtnut.com/l/_AH3jLVi0GhuO
https://dl.doubtnut.com/l/_KYWNfhiWwwGO

136. The adjacent angles of a parallelogram are
(2x — 4)° and (3x - 1)°. Find the measures of all

angles of the parallelogram.

o Watch Video Solution

137. The point of intersection of diagonals of a
quadrilateral divides one diagonal in the ratio
1:2. Can it be a parallelogram? Why or why

not?

° Watch Video Solution



https://dl.doubtnut.com/l/_ro9SiuZTbBV1
https://dl.doubtnut.com/l/_kP0JJjxAcasA

138. The ratio between exterior angle and
interior angle of a regular polygon is 1:5. Find

the number of sides of the polygon.

o Watch Video Solution

139. Two sticks each of length 5 cm are
crossing each other such that they bisect each
other. What shape is formed by joining their

end points? Give reason.

o Watch Video Solution



https://dl.doubtnut.com/l/_kP0JJjxAcasA
https://dl.doubtnut.com/l/_S3Kd5nmYQFrz
https://dl.doubtnut.com/l/_kP52yKBC56Hi

140. Two sticks each of length 7 cm are
crossing each other such that they bisect each
other at right angles. What shape is formed by

joining their end points? Give reason.

o Watch Video Solution

141. A playground in the town is in the form of

a kite. The perimeter is 106 metres. If one of its


https://dl.doubtnut.com/l/_kP52yKBC56Hi
https://dl.doubtnut.com/l/_tSy5mV7MhJKZ
https://dl.doubtnut.com/l/_flreO9BLxr6h

sides is 23 metres, what are the lengths of

other three sides?

° Watch Video Solution

142. In rectangle READ, find ZEAR, ZRAD

and ZROD



https://dl.doubtnut.com/l/_flreO9BLxr6h
https://dl.doubtnut.com/l/_SMm3f4xPLtN9

| ¥ Watch Video Solution |

143. In parallelogram ABCD, find /B, ZC and /

D.

D C

S0

o Watch Video Solution



https://dl.doubtnut.com/l/_SMm3f4xPLtN9
https://dl.doubtnut.com/l/_Cxm7oHEdHWdn

144.In parallelogram PQRS, O is the mid point

of SQ. Find /S, /R, PQ, OR and diagonal PR.

. 15 cm
S R
1] em
8]
H{JLI
I'll Q i‘r *

o Watch Video Solution

145. In parallelogram FIST, find ZSFT, Z0OST and

/STO.


https://dl.doubtnut.com/l/_Grs5AB5xde2u
https://dl.doubtnut.com/l/_jVRFNnrbrEXy

o Watch Video Solution

146. In the given parallelogram YOUR, ZRUO =

120° and OY is extended to point S such that /


https://dl.doubtnut.com/l/_jVRFNnrbrEXy
https://dl.doubtnut.com/l/_VSBY8lIZfSI7

SRY = 50°. Find ZYSR.

o Watch Video Solution

147. In kite WEAR, /WEA = 70° and ZARW = 80°.

Find the remaining two angles.


https://dl.doubtnut.com/l/_VSBY8lIZfSI7
https://dl.doubtnut.com/l/_E5PUq8za4LV9

R
w/\,\

o Watch Video Solution



https://dl.doubtnut.com/l/_E5PUq8za4LV9

148. A rectangular MORE is shown below:

. - "l.1

Answer the following questions by giving
appropriate reason.

Is RE = OM?

o Watch Video Solution



https://dl.doubtnut.com/l/_LlaGCXS0DZuU

149. A rectangular MORE is shown below:

Answer the following questions by giving
appropriate reason.

Is ZMOY = ZREX?

° Watch Video Solution



https://dl.doubtnut.com/l/_ENeKKfEvUe6b

150. A rectangular MORE is shown below:

Answer the following questions by giving
appropriate reason.

Is ZMOY = ZREX?

° Watch Video Solution



https://dl.doubtnut.com/l/_bKmyZoojw0dy

151. A rectangular MORE is shown below:

Answer the following questions by giving

appropriate reason.

s AMYO = ARXE?

o Watch Video Solution



https://dl.doubtnut.com/l/_K4804ml7rGs0

152. A rectangular MORE is shown below:

. - "l.1

Answer the following questions by giving
appropriate reason.

Is RE = OM?

o Watch Video Solution



https://dl.doubtnut.com/l/_qDuqN2m9zSMa

153. In parallelogram MODE, the bisector of /
M and ZO meet at Q, find the measure of £

MQO.

o Watch Video Solution

154. In the following figure of a ship, ABDH and

CEFG are two parallelograms. Find the value of


https://dl.doubtnut.com/l/_qrjhutRSNfGk
https://dl.doubtnut.com/l/_UEZGo6kKHfvj

|

o Watch Video Solution

155. A Rangoli has been drawn on a flor of a
house. ABCD and PQRS both are in the shape

of a rhombus. Find the radius of semicircle


https://dl.doubtnut.com/l/_UEZGo6kKHfvj
https://dl.doubtnut.com/l/_szwKS5eRD8cC

drawn on each side of rhombus ABCD.

M\ / ! \ & S,
,,l-. ."\'L " - " > ‘I'

o Watch Video Solution

156. ABCDE is a regular pentagon. The bisector

of angle A meets the side CD at M. Find ZAMC


https://dl.doubtnut.com/l/_szwKS5eRD8cC
https://dl.doubtnut.com/l/_1ILgrZel54Xa

-.H‘w-\.
!‘,.a""r . "JMH
# .
I.. ..-..-"r. g
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o Watch Video Solution

157. Quadrilateral EFGH is a rectangle in which

J is the point of intersection of the diagonals.


https://dl.doubtnut.com/l/_1ILgrZel54Xa
https://dl.doubtnut.com/l/_tW57we6lbyHo

Find the value of x if JF =8x + 4 and EG = 24x -

8.

° Watch Video Solution

158. Find the values of x and y in the following

parallelogram.



https://dl.doubtnut.com/l/_tW57we6lbyHo
https://dl.doubtnut.com/l/_5lZrJiqV9sZB

[ & Watch Video Solution ]

159. Find the values of x and y in the following

kite.



https://dl.doubtnut.com/l/_5lZrJiqV9sZB
https://dl.doubtnut.com/l/_fQ8HvCbfYQ5O

° Watch Video Solution

160. Find the value of x in the trapezium ABCD

given below.

3

D C

° Watch Video Solution



https://dl.doubtnut.com/l/_fQ8HvCbfYQ5O
https://dl.doubtnut.com/l/_xUHvLsHr17Rk
https://dl.doubtnut.com/l/_N93Cs01CvFEM

161. Two angles of a quadrilateral are each of
measure 75° and the other two angles are
equal. What is the measure of these two

angles? Name the possible figures so formed.

° Watch Video Solution

162. In a quadrilateral PQRS, /P = 50°, /Q =
50°, /R = 60°. Find Z/S. Is this quadrilateral

convex or concave?

° Watch Video Solution



https://dl.doubtnut.com/l/_N93Cs01CvFEM
https://dl.doubtnut.com/l/_oEKAIFCEB6FF

163. Both the pairs of opposite angles of a
quadrilateral are equal and supplementary.

Find the measure of each angle.

o Watch Video Solution

164. Find the measure of each exterior angle of

a regular octagon.

° Watch Video Solution



https://dl.doubtnut.com/l/_6xHJHOAwWxRR
https://dl.doubtnut.com/l/_IOcTGvD7vZzL

165. Find the measure of an are exterior angle
of a regular pentagon and an exterior angle of
a regular decagon. What is the ratio between

these two angles?

o Watch Video Solution



https://dl.doubtnut.com/l/_sZq0vbcregzw

166. In the figure, find the value of x.

o Watch Video Solution

167. Three angles of a quadrilateral are equal.
Fourth angle is of measure 120°. What is the

measure of equal angles?


https://dl.doubtnut.com/l/_msBSolE4v8Fo
https://dl.doubtnut.com/l/_jEzTte4rzcEr

° Watch Video Solution

168. In a quadrilateral HOPE, PS and ES are
bisectors of ZP and ZE respectively. Give

reason.

° Watch Video Solution

169. ABCD is a parallelogram. Find the value of

X,y and z.


https://dl.doubtnut.com/l/_jEzTte4rzcEr
https://dl.doubtnut.com/l/_O5pfNzKinvF5
https://dl.doubtnut.com/l/_yfiZii7fHD1O

o Watch Video Solution

170. Diagonals of a quadrilateral are
perpendicular to each other. Is such a
quadrilateral always a rhombus? Give a figure

to justify your answer.

| & I


https://dl.doubtnut.com/l/_yfiZii7fHD1O
https://dl.doubtnut.com/l/_DjwGPgXuLp8y

| ¥ Watch Video Solution |

171. ABCD is a trapezium such that AB||CD, ZA:
/D=2:1,/B:/C=7:5.Find the angles of the

trapezium.

o Watch Video Solution

172. A line | is parallel to line m and a
transversal p interesects them at X, Y

respectively. Bisectors of interior angles at X


https://dl.doubtnut.com/l/_DjwGPgXuLp8y
https://dl.doubtnut.com/l/_wnVVfYEPq2v8
https://dl.doubtnut.com/l/_OXDz6nHLyG3R

and Y interesct at P and Q. Is PXQY a

rectangle? Given reason.

° Watch Video Solution

173. ABCD is a parallelogram. The bisector of
angle A intersects CD at X and bisector of
angle C intersects AB at Y. Is AXCY a

parallelogram? Give reason.

o Watch Video Solution



https://dl.doubtnut.com/l/_OXDz6nHLyG3R
https://dl.doubtnut.com/l/_Az8uR0jeAOen

174. A diagonal of a parallelogram bisects an
angle. Will it also bisect the other angle? Give

reason.

o Watch Video Solution

175. The angle between the two altitudes of a
parallelogram through the vertex of an obtuse
angle of the parallelogram is 45° Find the

angles of the parallelogram.

° Watch Video Solution



https://dl.doubtnut.com/l/_ruvbNQTAjL9i
https://dl.doubtnut.com/l/_vKJt98EAWIqt

176. ABCD is a rhombus such that the
perpendicular bisector of AB passes through
D. Find the angles of the rhombus.

Hint: Join BD. Then A ABD is equilateral.

o Watch Video Solution

177. ABCD is a parallelogram. Points P and Q
are taken on the sides AB and AD respectively

and the parallelogram PRQA is formed. If

/C = 45°,find ZR.


https://dl.doubtnut.com/l/_vKJt98EAWIqt
https://dl.doubtnut.com/l/_M6jj9Ogq261M
https://dl.doubtnut.com/l/_9OlXlZZEhz22

° Watch Video Solution

178. In parallelogram ABCD, the angle bisector
of ZA bisects BC. Will angle bisector of B also

bisect AD? Give reason.

° Watch Video Solution

179. A regular pentagon ABCDE and a square
ABFG are formed on opposite sides of AB. Find

/BCF.

| |


https://dl.doubtnut.com/l/_9OlXlZZEhz22
https://dl.doubtnut.com/l/_sNBJhnfjY1Nt
https://dl.doubtnut.com/l/_cnhX6madZGXA

& Wwatch Video Solution I

180. Find the maximum number of acute
angles that a convex quadrilateral, a pentagon
and a hexagon can have. Observe the pattern

and generalize the result for any polygon.

° Watch Video Solution

181. In the following figure, FD||BC||AE and

AC||ED. Find the value of x.


https://dl.doubtnut.com/l/_cnhX6madZGXA
https://dl.doubtnut.com/l/_OO6nK74idZiO
https://dl.doubtnut.com/l/_zsuMcgB1DP7I

° Watch Video Solution

182. In the following figure, AB||DC and AD = BC.

Find the value of x.


https://dl.doubtnut.com/l/_zsuMcgB1DP7I
https://dl.doubtnut.com/l/_LisBSKr0R7b3
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o Watch Video Solution

183. Construct a trapezium ABCD in which
AB||DC, ZA =105°, AD = 3 cm, AB =4 cm and CD

=8 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_LisBSKr0R7b3
https://dl.doubtnut.com/l/_h2KzNQ14rBni

184. Construct a parallelogram ABCD in which

AB =4 cm,BC =5 cm and ZB = 60°.

° Watch Video Solution

185. Construct a rhombus whose side is 5 cm

and one angle is of 60°.

o Watch Video Solution



https://dl.doubtnut.com/l/_h2KzNQ14rBni
https://dl.doubtnut.com/l/_7n5o3h11cfjV
https://dl.doubtnut.com/l/_yBE4kN78rJdC

186. Construct a rectangle whose one side is 3

cm and a diagonal equal to 5 cm.

o Watch Video Solution

187. Construct a square of side 4 cm.

o Watch Video Solution

188. Construct a rhombus CLUE in which CL =

7.5 cm and LE =6 cm.



https://dl.doubtnut.com/l/_PDcHVGuGaPmQ
https://dl.doubtnut.com/l/_Vf6iUWSlzblA
https://dl.doubtnut.com/l/_LbOkaXrkH8mL

o Watch Video Solution

189. Construct a quadrilateral BEAR in which
BE=6cm,EA=7cm,RB=RE=5cmand BA=9

cm. Measure its fourth side.

o Watch Video Solution

190. Construct a parallelogram POUR in which,

PO=5.5 cm, OU = 7.2 cm and £O =70°.

o Watch Video Solution



https://dl.doubtnut.com/l/_LbOkaXrkH8mL
https://dl.doubtnut.com/l/_9juquihFgCb4
https://dl.doubtnut.com/l/_N5LOUHgSxg6V

191. Draw a circle of radius 3 cm and draw its
diameter and label it as AC. Construct its
perpendicular bisector and let it intersect the
circle at B and D. What type of quadrilateral is

ABCD? Justify your answer.

o Watch Video Solution

192. Construct a parallelogram HOME with HO

=6cm, HE =4 cm and OE =3 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_N5LOUHgSxg6V
https://dl.doubtnut.com/l/_001C5is91vPk
https://dl.doubtnut.com/l/_BBd4XSdhyGkD

193. Is it possible to construct a quadrilateral
ABCD in which AB=3 cm,BC =4 cm,CD =54
cm, DA =59 cm and diagonal AC =8 cm? If not,

why?

o Watch Video Solution

194. Is it possible to construct a quadrilateral
ROAM in which RO=4 cm, OA =5 cm, Z0 =120°,

/R =105°and ZA =135°7 If not, why?

| = |


https://dl.doubtnut.com/l/_BBd4XSdhyGkD
https://dl.doubtnut.com/l/_1wRsLR2huvH1
https://dl.doubtnut.com/l/_1MyyaLLqndxx

I &9 Watch Video Solution I

195. Construct a square in which each diagonal

is 5cm long.

o Watch Video Solution

196. Construct a quadrilateral NEWS in which
NE =7cm, EW =6 cm, ZN =60°, ZE = 110° and £

S =85°.

o Watch Video Solution



https://dl.doubtnut.com/l/_1MyyaLLqndxx
https://dl.doubtnut.com/l/_WeGLDh52EC4b
https://dl.doubtnut.com/l/_MKa5fYXa4AQC

197. Construct a parallelogram when one of its
side is 4cm and its two diagonals are 5.6 cm

and 7cm. Measure the other side.

o Watch Video Solution

198. Find the measure of each angle of a

regular polygon of 20 sides?

° Watch Video Solution



https://dl.doubtnut.com/l/_WkXqKnmvdJds
https://dl.doubtnut.com/l/_Hdtv5jvANu63

199. Construct a trapezium RISK in which
RI||KS, RI =7 cm, IS = 5 cm, RK=6.5 cm and /I =

60°.

o Watch Video Solution

200. Construct a trapezium ABCD where
AB||CD, AD = BC = 3.2cm, AB = 6.4 cm and CD =

9.6 cm. Measure /B and ZA.


https://dl.doubtnut.com/l/_JcfBPxtnavHG
https://dl.doubtnut.com/l/_xzUzQ5zdggxB

6.4 ¢

3.2 cm 3.2 cm

/

.6 cm

HO

[Hint : Difference of two parallel sides gives an

equilateral triangle.]

° Watch Video Solution

Applications Games And Puzzles


https://dl.doubtnut.com/l/_xzUzQ5zdggxB

1. Have students take each of the quadrilateral
named below, join, in order, the mid points of
the sides and describe the special kind of
quadrilaterals they get each time:

Rhombus

o Watch Video Solution

2. Have students take each of the quadrilateral
named below, join, in order, the mid points of

the sides and describe the special kind of


https://dl.doubtnut.com/l/_PCKQdIilhi2R
https://dl.doubtnut.com/l/_Qug0nfl1rLH1

quadrilaterals they get each time:

Rectangle.

o Watch Video Solution

3. Crossword Puzzle

Solve the given crossword and then fill up the
given boxes (on the next page). Clues are
given below for across as well as downward
filling. Also, for across and down clues, clue
number is written at the corner of the boxes.

Answers of clues have to be filled up in their


https://dl.doubtnut.com/l/_Qug0nfl1rLH1
https://dl.doubtnut.com/l/_CzDe87H3CvHu

respective boxes.
Clues

Across

1. A quadrilateral with pair of parallel sides.

2. A simple closed curve made up of only line
segments.

3. A quadrilateral which has exactly two
distinct consecutive pairs of sides of equal
length.

4. A line segment connecting two non-
consecutive vertices of a polygon.

5. The diagonals of a rhombus are

bisectors of one another.


https://dl.doubtnut.com/l/_CzDe87H3CvHu

6. The sides of a parallelogram are

of equal length.

7. The number of sides of a regular polygon
whose each exterior angle has a measure of
450.

8. The sum of measure of the three angles of a

is 1800.

9. A polygon which is both equiangular and
equilateral iscalleda polygon.
10. Number of sides of a nonagon.

Down

11. Name of the figure


https://dl.doubtnut.com/l/_CzDe87H3CvHu

12. The angles of a parallelogram are

supplementary.

13. A is a quadrilateral whose pair

of opposite sides are parallel.
14. The diagonals of a rectangle are of

length.

15. A five sided polygon.


https://dl.doubtnut.com/l/_CzDe87H3CvHu

16. The

diagonals

each other.

of a

parallelogram

17. A quadrilateral having all the properties of

a parallelogram and also that of a kite.
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o Watch Video Solution



https://dl.doubtnut.com/l/_CzDe87H3CvHu

Think And Discuss

1. If RICE is a rhombus with EC = 20 cm and OC

=12 cm, can you find x,y,z ?

o Watch Video Solution

2. Can you draw a rhombus ABCD if it's side is
13 cm and O is the point of intersection of
diagonals

Given OA=12cmand OB=5cm?

I ° Watch Video Solution


https://dl.doubtnut.com/l/_1bUKlO1D01ON
https://dl.doubtnut.com/l/_W1QOVeIeKZ1f



https://dl.doubtnut.com/l/_W1QOVeIeKZ1f

